SURGERY FINAL MBBS 2003 – MCQs

1) Which is not caused by an adduction injury to the knee???
a)
Paralysis of extensor hallucis longus
b)
Paralysis of anterior tibialis

2)
Monteggia fracture involves

a) fracture proximal ulna and fracture radial head

b) ulnar palsy

c) cannot extend MCPJ

d) cross union of fracture sites

5)
Treatment of trigger finger includes the following EXCEPT

e) NSAIDS

f) Splint

g) Corticosteroids

h) Active mobilization

i) surgery

7) Which of the following is not a routine radiological investigation in an unconscious polytrauma patients:

a)
Lateral XR of cervical spine

b)
XR skull

c)
AP XR pelvis

d)
Chest XR

e) CT abdomen

9)
In advanced OA of the hip what is the deformity?

a) Abduction and internal rotation

b) Adduction and internal rotation

c) Abduction and external rotation

d) Adduction and external rotation

10)
The following are consequences of  BKA in a diabetic EXCEPT

a) Flap necrosis

b) may not ambulate

c) Contracture

d) Phantom limb 

e) Phantom pain

14)
Which about open fracture is NOT TRUE

a) Bone communicates with skin wound

b) Increased infection rate

c) Increased rate of non-union

15)
18 yr old male with knee injury during football has a haemarthrosis. All are differentials EXCEPT

a) ACL tear

b) Osteochondral fracture

c) PCL tear

d) Bucket handle tear of medial meniscus

e) Fracture patella

17)
Which of the following is the most important determinant in stability of intertrochanteric fracture of femur?

a) Fracture displacement

b) Status of medial cortex

c) Angle of proximal fragment

d) Displacement of greater trochanter

e) Bone density of proximal femur

18)
 Which signals the end of spinal shock in a paraplegic patient: 

a) Spontaneous breathing 

b) Bulbocavernosus reflex 

c) Upgoing plantar reflex 

d) Anal tone 

21)
Post-menopausal osteoporosis associated with the following EXCEPT

a) Compression vertebral body fracture

b) HRT delays onset

c) Obesity

d) Reduced bone mineral density

e) Occurs after oopherectomy

22)
Regarding compartment syndrome, which is NOT TRUE?

a) Pain and pulseless limb is an early sign

b) It can occur in open fractures

c) Pain is a cardinal feature

d) Can occur in foot

e) Urgent fasciotomy indicated

23)
Which of the following is the most commonly injured in ankle sprains?
a) Deltoid ligament
b) CFL
c) ATFL
d) PTFL
e) TFL

24)
The following are features of fat embolism except:
a) tachypnoea
b) fever
c) petechiae over chest
d) bradycardia
e) confusion

26)
A 13 year old girl with osteomyelitis. What is the likely organism?

a) 
staph epidermis

b)
staph aureus

c) 
H. influenza

d)
clostridium perfringens

27)
A 55yr old lady with diagnosed vertebral osteomyelitis at L2/L3. All of these are possible EXCEPT: 

a) Immediate decompression and drainage 

b) S. aureus is the most likely pathogenic organism 

c) Patient may have DM 

d) Patient complains of night pain 

e) This affects the end plates of the vertebra 

28)

In prolapsed intervertebral disk, all are true except,

a) 
Involvement of L5/S1 can cause a decrease in the ankle jerks
b) 
Involvement of L4/L5 can cause weakness of the extensor hallucis longus
c) 
Cauda Equina lesion is an emergency 
d) 
Numbness of the sole requires emergency treatment

32)
Erb’s palsy has the following feature EXCEPT

a) weakness of abductor pollicis brevis

b) waiter’s tip

c) breech

d) posterior dislocation of humerus with time

e) deltoid paralysis

34)
A golfer’s elbow is associated with

a) tendonitis at origin of common extensor muscles

b) tendonitis at origin of common flexor tendons

c) tendonitis at insertion of biceps

d) tendonitis at insertion of triceps

e) none of the above

39)
Most common direction of prolapsed lumbar disc is

a) anterior

b) posterior

c) superior

d) posterolateral

e) anterolateral

40)
Features of NF include the following EXCEPT

a) pseudoarthrosis of tibia

b) acoustic neuroma

c) malignant change

d) spina bifida

e) café au lait

41)
Syme’s amputation is through the

a) calcaneus

b) subtalar joint

c) tibia 5cm from knee joint

d) tarsometatarsal joint

e) distal tibia

42) 
De Quervain’s treated by 

a) splint

b) hydrocortisone injection

c) surgery

d) b and c

e) a, b and c

43)
Paralysis of abductor pollicis brevis is caused by

a) Galeazzi fracture

b) Monteggia fracture

c) Carpal tunnel syndrome

d) Cubital tunnel syndrome

e) None of the above

44)
Causes of anterior knee pain include the following EXCEPT

a) PCL injury

b) ACL injury

c) Patellar tendon tendonitis

d) Quadriceps tendonitis

e) Fracture patella/ chondromalacia

45)
First sign of acute compartment syndrome 

a) Pain

b) Pulseless

c) Mottling and cold

d) Paralysis

e) Sensory loss

46)
Delayed union uncommon in which fracture?

a) midshaft humerus

b) distal tibia

c) distal ulna

d) subtrochanteric region of femur

e) intertrochanteric region of femur

51)
The following are true for giant cell tumour at the proximal tibia EXCEPT

a) it is a disease of early childhood

b) metastasis is rare

c) it is an epiphyseal lesion

d) recurrence is common if curettage is inadequate

50)
25 yr old female involved in RTA. Hip is in adduction, flexion and internal rotation. Most likely diagnosis is

a) posterior dislocation of hip

b) anterior dislocation of hip

c) neck of femur fracture

d) intertrochanteric fracture

e) acetabular fracture

52)
Neck of fibular fracture is associated with

a) numbness over dorsum of foot

b) numbness over medial aspect of foot

c) numbness over sole of foot

d) numbness over anterior leg

e) none of the above

54)
The following of De Quervain’s is TRUE

a) it is a stenosing vaginitis of the first extensor compartment

b) due to EPB and APL

c) due to EPL and APL

d) adduction of thumb across palm is painful

e) treatment is surgical excision

55)
65 yr old female with grade I fracture NOF, best treatment is

a) straight skin traction for 12 weeks

b) Russell traction for 12 weeks

c) Total hip replacement

d) Cannulated screw hip fixation

e) Moore’s hemiarthroplasty

56)
How do you differentiate between "structural" and "non-structural" causes of scoliosis?

a) severity
b) location

c) rigidity
d) rotation of vertebral bodies
e) none of the above
57)
60yr old man with history of lung CA 2 yrs ago. Presenting with 3 week history of back pain. Diagnosis to exclude is

a) osteoporotic fracture of vertebra

b) spinal infection

c) lumbar spondylosis

d) prolapsed lumbar disc

e) none of the above

58)
Elderly with comfirmed Colles’ fracture.Treatment of choice

a) M & R with Bier’s block

59)
Prognostic factors for brachial plexus injury

a) Horner’s

b) Avulsion fracture of C7 transverse process

c) Pseudomeningocele on myelogram

d) (a) and (b)

e) (a), (b) and (c)

60)
35 yr old female with closed undisplaced humeral shaft fracture with complete radial nerve palsy after RTA. Appropriate treatment is

a) intramedullary nailing

b) ORIF with plates and nails + nerve exploration

c) Cast immobilization and immediate nerve conduction studies

d) Hanging cast and observation for nerve recovery

e) None of the above

61)
1st post op day pyrexia usually due to

a) atelectasis

b) UTI

c) Chest infection

d) Throat infection

e) DVT

62)
Which of the thyroid carcinomas is not of epithelial origin?

a) medullary 

b) follicular

c) papillary

d) anaplastic

e) poorly differentiated

64)
3mm ureteric stone. Treatment of choice is

a) conservative

b) URS lithotripsy

c) ESWL

d) Open urethrolithotomy

e) DJ stenting

66)
Wound bed that will not ‘take’ graft

a) muscle

b) granulation tissue

c) bone

d) paratenon

e) viable fat

68) Which is abnormal within 24hrs after insertion of chest tube?

a) oscillation with oscillation

b) bubbling with coughing

c) continuous bubbling

d) misting of bottle

e) none of the above

69)
Partial thickness skin graft has the following properties EXCEPT

a) Donor sites re-epithelize between 10-14 days

b) Hair follicles are transferred with the graft

c) They ‘take’ more easily than full thickness skin graft

d) They contract more than dull thickness skin graft

e) There is less normal activity of the sebaceous glands and sweating

70)
Patient with well-differentiated thyroid cancer: which factor is NOT prognostic?

a) Age of patient

b) Extrathoracic metastases

c) Size of tumour

d) Lymphatic spread

e) Extracapsular spread

73)
In carotid artery stenosis

a) bruit is an indication of severity

b) atheroma found most commonly in external carotid artery

c) embolism will cause ipsilateral hemiplegia

d) aspirin is proven prophylaxis

e) surgery should be done for asymptomatic stenosis

75.
Presentation of mesenteric ischaemia - 

a) disproportionate abdominal pain

b) fever 

76)
Signs and symptoms of raised ICP include all EXCEPT

a) sunset eyes

b) headache

c) papilloedema

d) nystagmus

e) vomiting

77)
20 yr old female with localized papillary thyroid CA. Treatment?

a) Surgery alone

b) Surgery + radiotherapy

c) Surgery + chemotherapy

d) Chemo radiotherapy

e) None of the above

80)
Painful bright red bleeding is classically attributed to

a) proctitis

b) anal warts

c) anal fissure

d) anal abscess

82)
Which of the following is associated with the highest incidence of DVT?

a) Hip surgery

b) Breast CA

c) Obesity

d) Cholecystectomy

e) Gastrectomy

83)
54 yr old male, CA rectum resected 2 yrs ago. On follow up CEA is increased, CT scan shows 3cm lesion in liver. Management :

a) Chemotherapy

b) TACE

c) Percutaneous ethanol injection

d) External beam RT

e) Evaluation for resection of liver

85)
Which of the following is not associated with skin carcinomas

a) arsenical dermatitis

b) chronic exposure to UV light

c) Exposure to aniline dyes

d) Xeroderma pigmentosum

e) Renal transplant

86)
Which is NOT TRUE in acute limb ischemia?

a) more common in AF

b) more common in sinus rhythm

c) sensory deficit not indication for urgent surgery

d) pallor is an early sign

e) thrombolysis is invariably successful

88)
Absolute indication for surgery of enlarged prostate 

a) Lower urinary tract symptoms

b) Acute urinary retention

c) Chronic retention of urine

d) Poor uroflow parameters

89)
With regards to extradural haematomas, which of  the following is CORRECT

a) they are the commonest intracranial haematomas in head injury

b) they are associated with a very poor prognosis

c) they are usually due to a torn middle meningeal artery

d) they are not associated with a lucid interval

e) they are crescenteric in morphology on CT scan

95)
A 50 year-old male with right-sided abdominal pain. CT scan shows a 4cm adrenal mass. The investigation should be

a) serum cortisol

b) 24 hour renin level

c) adrenalectomy

d) Repeat CT in 8 weeks

96)
Risk factors for CA tongue include the following EXCEPT

a) tobacco

b) alcohol

c) chronic irritation from dentures or a malpositioned tooth

d) EBV

e) Chronic immunosuppression

97)
Which is used in biliary anastomosis

a) P.D.S.

b) Prolene

c) Ethilon

d) Silk

e) Stainless steel

100)
In the first 24 hours of a patient with major partial skin thickness burns, which of the following is the most important therapeutic procedure

a) 
albumin infusion
b)
red blood cells transfusion
c) 
fluids and electrolytes resuscitation
d) 
nutrition
e) 
oxygen therapy

101)
20-30yr old man with history of 1 episode of jaundice 15 yrs ago. Now presents with 6 weeks of RHC pain. Ultrasound shows 4 cm nodule. What is the most likely diagnosis?

a) angiosarcoma

b) HCC

c) Focal nodular hyperplasia 

d) Haemangioma

102)
Congenital pyloric stenosis : which is TRUE

a) affects 10-12 year-olds

b) presents with projectile bilious vomiting

c) results in hypochloremic hypokalemic metabolic alkalosis

d) requires 5% dextrose for resuscitation

e) females affected > males

104)
Which is the most accurate measurement of residual urine?

a) IVU

b) Catheterisation

c) Bladder ultrasound

d) Clinically by percussion and palpation

e) All of the above

105)
Regarding pleomorphic adenoma of the parotid, which is FALSE?

a) usually infiltrates the 7th nerve causing LMN lesion

b) recurrence is common after incomplete removal

c) deep lobe involvement can present as parapharyngeal mass

d) malignant transformation is possible in the long run

e) surgical treatment offers the best potential of cure

106)
Which of the following is not proven in the treatment of pancreatitis with 4 of Ranson’s criteria?

a) IV somatostatin

b) Oral, parenteral rehydration

c) IV imipenam

d) Necrosectomy for necrotising panceatitis

e) Management in the ICU

110)
The commonest primary tumour in the anterior mediastinum is

a) thymoma

b) lymphoma

c) retrosternal goiter

d) teratoma

111)
The APC gene in FAP is found in chromosome

a) 11

b) 13

c) 9

d) 6

e) 5

114)
Which of the following does not undergo spontaneous regression?
a) choriocarcinoma
b) neuroblastoma
c) arteriovenous malformation 

d) haemangioma
e) lymphangioma

115)
A 66-year-old woman with colorectal carcinoma is going for anterior resection. DVT prophylaxis includes : 

a) Warfarin 1 week before surgery

b) Ticlopidine 1 week before surgery

c) Subcutaneous heparin 5000 units 2 hrs before surgery

d) IV Vitamin K 10mg at induction

e) IV heparin 1000 units 2 hrs before surgery

118)
Anal condylomata is associated with

a) HPV

b) Hep C

c) HIV

d) CMV

e) None of the above

119)
Massive hemoptysis occurs in 

a) TB

b) Bronchiectasis

c) Lung Abscess

d) Pulmonary embolism

e) Open pneumothorax

120)
GER in children

a) uncommon in <1 hr old

b) aspiration pneumonia uncommon

c) Failure to thrive uncommon

d) Treated with milk thickeners and upright posture 

e) Treated with gastrostomy alone

121)
70 yr old male smoker, asymptomatic with normal CXR 6 months ago. Now chest xray shows a 3cm coin lesion. Which 3 diagnoses are likely?

a) metastasis, small cell lung CA, harmatoma

b) small cell lung CA, TB, Non small lung CA

c) Nasal polyp, harmatoma, Metastases

d) Benign tumour, harmatoma, necrotizing pneumonia

122)
The solitary rectal ulcer

a) posterior wall of rectum

b) not associated with Crohn’s

c) always solitary

d) not premalignant

e) associated with internal intussusception

123)
24 yr old female with perforated appendix. Underwent appendicectomy. 7th post op day developed fever 38.5oC. Which is the most likely cause?

a) malignant hyperthermia from GA induction agent

b) wound dehiscence

c) slipped ligature

d) bronchopneumonia

e) pelvic abscess

124)
10 hr after ERCP, patient complains of generalised abdominal pain. O/E, tenderness over umbilicus.

which investigation is the most suitable?

 

a) Hb

b) Albumin

c) Amylase

d) Bilirubin

e) total white

127)
Fistula-in-ano

a) a high trans-sphincteric fistula runs between the internal and external sphincter in the plane of the longitudinal muscle layer

b) a low fistula can be treated with antibiotics

c) a high fistula is treated by laying open the track

d) a high fistula may require temporary colostomy for local healing

128)
24-yr old male with chest pain and anterior mediastinal mass on CT. What’s the next step?

a) surgery

b) do AFP and HCG levels to help plan management

c) no need for biopsy

d) stage 

129)
Meckel’s diverticulum

a) May contain heterotopic pancreas

b) Present in 10% of the human race 

c) Found only in males

d) Arise from bladder tissue

e) From mesenteric border of jejunum

134) Which of the following prostatectomy is commonly associated with retrograde ejaculation.

 

a) Retropubic 

b) Transvesical 

c) Transurethral

d) Transperineal

e)  All of the above

135)
7mm DCIS with no vascular invasion. What is the treatment of choice?

a) Simple mastectomy with axillary clearance

b) Local excision

c) Wide LOCAL excision

d) Wide excision with axillary clearance

e) Wide excision with radiotherapy

136)
Chest drain : which one is NOT TRUE?

a) not safe to insert at the level of the nipple

b) triangle of safety is below scapula

c) analgesia not required

d) blunt forceps to enter pleural cavity and blunt dissection with fingers to widen track 

e) put tube below inferior border of ribs

141)
22 yr-old male with bright red rectal bleeding and painful defecation for 2 weeks. Most likely diagnosis

a) Ulcerative colitis

b) Ascending colon CA

c) Anal fistula

d) Ileocaecal Crohn’s

e) Pilonidal sinus

142)
The following are criteria of Irritable bowel syndrome EXCEPT ( and in fact will alert you, as a primary care physician to underlying disease)

a) recurrent abdominal colic

b) flatus

c) mucus in stool

d) blood stained stool

e) tenesmus

143)
Premature neonates are prone to the following EXCEPT

a) PDA

b) RDS

c) IVH

d) Umbilical hernia

144)
Which of the following is true of cardiovascular disease in surgical patients?

a) after MI defer surgery more than 12 months

b) 90% of post op reinfarcts are silent

c) mortality of post op MI is 10%

d) risk of post op MI is decreased in hypertensive patients

e) LV ejection fraction is a useful marker of cardiovascular function and outcome after surgery

146)
Which regarding oesophageal carcinoma is TRUE?

a) adenocarcinoma in upper 2/3

b) 5 yr survival rate > 50%

c) tylosis genetically predisposed

d) 10% adenocarcinoma in Barett’s esophagus 

e) Atkinson tube inserted endoscopically for palliation

147)
A 50 yr old man  with long standing 3rd degree piles. What is the definitive treatment?

a) colonoscopy to exclude CA

b) Injection sclerotherapy

c) Laser therapy

d) hemarroidectomy

148)
32 year-old woman presents with bloody nipple discharge. Examination showed small painful mobile nodule beneath the areola. The nipple is normal. What is the likely diagnosis?

a) fibrocystic disease

b) fibroadenoma

c) intraductal papilloma

d) cystoscarcoma phylloides

e) medullary CA

149)
Bilious vomiting in a well child is a surgical emergency because of

a) volvulus and bowel gangrene

b) duodenal atresia

c) pyloric stenosis and dehydration

d) intusussception and paralytic ileus

e) GERD and pneumonia

150)
These structures are normally found in the submandibular triangle of the anterior triangle of the neck, EXCEPT

a) submandibular gland

b) submandibular lymph nodes

c) cervical branch of facial nerve

d) facial artery

e) facial vein

153)
Which of the following is an absolute contraindication to surgical resection of non small-cell lung cancer?

a) serous non-malignant pleural effusion

b) chest wall invasion

c) ipsilateral vocal cord paralysis from vagus nerve involvement

d) superior sulcus tumour

e) contralateral mediastinal lymph node involvement

154)
The most common benign oesophageal tumour is

a) lipoma

b) leiomyoma

c) leiomyosarcoma

d) lymphoma

e) hemangioma

155)
The following are TRUE about Mallory Weiss tears EXCEPT

a) Treatment is surgery

b) Associated  with vomiting and retching

c) Associated with alcohol

d) Presents as painless GI bleeding

e) Endoscopy as investigation

159)
Patient with acute pancreatitis can have the following underlying problem EXCEPT

a) hyperparathyroidism

b) hypothyroidism

c) alcoholism

d) gallstones

e) mumps

161)
 Patient presents with pyonephrosis from complete obstruction of 
a ureteric stone, the initial management should be

a)
ureteroscopic laser lithotripsy
b
PCN
c)
ESWL
d)
open ureterolithotomy
e)
expectant therapy

163)
Commonest cause of malignant tumour in liver in both men and women

a) hepatoma

b) metastases

c) angiosarcoma

164) chronic ischemic of the distal limb extremity has all except…

a) No hair on the toes

b) Brawny induration of the skin

c) Dependant rubor

d) Temperature difference between the thigh and the foot

e) Hyperkeratosis of the nail

165)
The following is NOT TRUE for a patient with chylothorax

a) it can occur with surgical or blunt trauma

b) patient can be immunosuppressed

c) patient can be malnourished

d) TPN is not an option in the management

e) In blunt trauma the subdiaphragmatic part of the thoracic duct can be ligated

166)
In obstructive jaundice:

a) urine conjugated bilirubin is increased

b) serum unconjugated bilirubin is increased

c) urine urobilinogen is increased

d) serum conjugated bilirubin is decreased

e) fecal stercobilin is increased

167)
Following are features/ indications of trachesostomy EXCEPT

a) bypass an upper airway obstruction

b) reduce anatomical dead space

c) decrease airway resistance

d) protect against chest infection

e) allow frequency of airway suction

 

172)
Intussusception is related to

a) Richter’s hernia

b) Mucovicidosis

c) Swollen Peyer’s patches

d) Intestinal volvulus

e) Vitellointestinal duct patency

176)
The following are TRUE of carcinoid tumour

a) most common in small intestines

b) usually premalignant

c) arise from submucosa

d) commonly presents with GI hemorrhage

e) usually multiple

177)
The following statements on Hirschsprung’s disease are TRUE

a) Acquired aganglionosis of large bowel

b) Associated with short gut dysmotility

c) Usually presents in late adulthood

d) Usually diagnosed by barium enema

e) Adequately managed by dietary means

178)
Hereditary non-polyposis colorectal carcinoma

a) <1% of all colorectal cancers

b) autosomal recessive inheritance with 100% penetrance

c) associated with Peutz Jeghers

d) associated with endometrial CA

e) procto-colectomy is treatment of choice

180)
The following are true of hepatoma EXCEPT

a) female>male

b) in SEA, most commonly due to HBV infection

c) can cause haemoperitoneum

d) can arise in non-cirrhotic liver

e) AFP can be normal in tumour >3cm

OK PEIQI, AM ADDING SOME MORE OF MY OWN THAT I SCRIBBLED DOWN AFTER THE MCQS. SORRY IF I REPEATED SOME FROM ABOVE BECAUSE I DIDN’T READ CAREFULLY!

182) 30 year-old female with recurrent fever, abdominal colic, mucoid stools. The least likely diagnosis is

a) cancer of the rectosigmoid

b) irritable bowel syndrome

c) typhoid fever

d) salmonellosis

183) A 60 year-old male presents with acute abdominal pain. CT abdomen shows sigmoid diverticula and a paracolic abscess. Most appropriate management includes:

a) scope to assess (something)

b) emergency laparotomy with primary anastamosis

c) percutaneous needle drainage

d) oral (something) and metronidazole

e) barium enema to assess degree of involvement

184) In an adult male with no previous medical or surgical history now presents with small bowel obstruction on AXR. There is not air in the large bowel. Next appropriate management is:

· sorry, can’t remember the options, except that scope was one of them. (and i’m not sure if that was the answer)

185) 60 year-old man with history of.... Digital rectal examination revealed a mobile mass 4 cm from the anal verge. Histology showed a basaloid cancer. Treatment is:

a) chemotherapy

b) radiotherapy

c) anterior resection

d) abdomino-perineal resection

186) Foot drop is NOT seen in:

a) polio

b) anterior hip dislocation

c) PCL injury

187) Young male motorcyclist involved in road traffic accident is hemodynamically stable with soft abdomen. He has frank hematuria. What is the most important firstline investigation which will be useful to confirm the diagnosis of renal injury?

a) MRI

b) CT abdomen

c) IVU

d) ultrasound

(I’M VERY SURE OF THIS QUESTION)

189) Most likely location of renal stones:

a) PUJ

b) PUJ and pelvic brim

c) pelvic brim

d) PUJ and VUJ

e) nil

190) The incidence of asymptomatic bacteriuria in patients (male? female?) more than 60 years old is

a) 10%

b) 20%

c) 30%

d) 40%

e) 50%

191) The commonest cause of incontinence in a middle-aged female is

a) detrusor overactivity

b) detrusor hypoactivity

c) overflow incontinence

d) outflow something

e) none of the above

192) Perianal abscess arises from

a) anal gland cryptitis

b) Bartholin’s glands

c) Crohn’s disease

193) Some question on radiation colitis- how it presents, when, treatment, etc...

194) Some question on treatment of RCC localised to kidney. 

195) Duke’s C colorectal cancer corresponds to which TNM? (options included various combinations of T and N and M)

196) DRE reveals prostate nodule (hard?), 1 cm in lateral lobe. Questions asks for T stage.

197) Most common cause of hemospermia

a) non-specific inflammation of prostate and seminal vesicles

b) cancer of the prostate

c) renal cell carcinoma

and some other options i can’t remember

198) True of skin flaps

a) always insensate

b) continue to grow with the patient

